® 7-3x=2x+11

@ 2(x-1) < —(9 - 4x)

@ 40-x<108
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3. 2xtd=ax+2b7bx o] HE FSAHL W, a+b & F2?

@® -3 @ -2 ® -1 @ 0 ®1
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Ex]
@ 1-3x=-2 © 2x+2=2
©® 3-x=1 ® 8-4x=-4
@ 4x+1=13
ONW) ® Q0,0 ® 0,
ONCNE) ® 0,0,6




D x+3=1=2x=-2

1
@ix:3=>x=6 ® 02x=04=2x=14

@ 3x=-12=>x=-4

® 2x-2=8=2x=10
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D 4x+5=9—>4x=9-+5

O 5x+2=06x—>5x—6x=-2

© 3x+5=6x-8—>3x-6x=-8-5
® -2x+3=3x-2—>-2x-3x=-2+3

@ x-1=-x+3->x+x=3-1
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@ 0.0 5 @6 6




2x—2

@ 2(x-1)

@ x=0

@ 2x2-3x+1=2(x*-1)

® 2x-3=5+2x

x—1

® 3x(x-1)
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®1 @ 2 ® 3

@ 0



ohe WA o shE Fohw?

3x—4 14
x +1=0250-

@ x=-20 @ x=-12

@ x=10 ® x=14
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@ -5

® -2

A uff, xof 3

@ -5

® -11



® 2(x-3)=4+2(x-5)

@ 35x—-4=15x-4
3x-3 2x—2
® 6 4

1 1
@ 1X+3—§X+4

@ 5x=10-5
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@O x=3y°lHx+2=3(y+2)°lth
r_Y _

@ 351 O™ 3x = 4y o|t}.

® x=3y°Hx-2=3y-20°]|t}.

@ —x=yolHx-2=-y+20°Jth
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Ta—-b =20
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(@a=3)x=b-5
D a=3 @ a+3 ® b=5
@ b+5 ® a=3b+5



